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QUESTION 1

Which option is true during a virtual machine cold migration?

A. Data is transferred over the vMotion VMKernel interface.

B. The datastore of the virtual machine cannot be changed.

C. Migrating a virtual machine from an Intel-based host to a AMD-based host generates an error.
D. Migrating a 64-bit virtual machine to a 32-bit host generates a warning.

Correct Answer: D

QUESTION 2

An administrator is re-provisioning an ESXi host and moving it to another datacenter. Which DCUI option should the
administrator use to revert the system configuration to the default settings?

A. Reset System Configuration
B. Rebuild Default System Configuration
C. Revert System Configuration
D. Renew Default System Configuration

Correct Answer: A

QUESTION 3

What are three goals of resource management within a cluster? (Choose three.)

A. To prevent virtual machines from monopolizing resources and to guarantee predictable service rates.
B. To explogt undercommitted resources and overcommit with graceful degradation.

C. To provide solutions to potential problems that you might encounter when using vCenter Server.

D. To control the relative importance of virtual machines and provide filexible dynamic partitioning.

E. To provide additional network administration capabilities.

Correct Answer: ABD

QUESTION 4

Which two are true about the Risk badge in vRealize Operations? (Choose two.)
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A. The Risk badge indicates potential future problems that may degrade the performance of the system.
B. Risks may require attention in the near future.

C. The Risk badge indicates problems that are degrading performance of the system.

D. Risks require attention now to correct system performance problems.

Correct Answer: AB

QUESTION 5

Which two resourse types can be limited on the vApp Level? (Choose two.)
A. Memory

B. Storage

C. Network

D. CPU

Correct Answer: AD
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